

$$P_c = \frac{1}{N} \sum_{i,j} P_{u_{ij}} x_{ik} = \frac{1}{NM(m-1)\sigma_u^2} \sum_{i=1}^N \sum_{j=1}^M \sum_{k=1}^M (u_{ij} - \bar{u}_i) (x_{ik} - \bar{x}_i)$$

1

$$\sigma_b^2 = \frac{\sigma_u^2}{M} (1 + (m-1)P_c)$$

اگر حجم نمونه ها با هم برابر باشند

$$\sigma_b^2 = \frac{1}{N} \sum_{i=1}^N (\bar{u}_i - \bar{u}_{..})^2 = \frac{1}{N} \sum_{i=1}^N \left( \frac{1}{M} \sum_{j=1}^M u_{ij} - \bar{u}_{..} \right)^2$$

$$= \frac{1}{NM^2} \sum_{i=1}^N \left( \sum_{j=1}^M u_{ij} - M\bar{u}_{..} \right)^2 = \frac{1}{NM^2} \sum_{i=1}^N \left( \sum_{j=1}^M (u_{ij} - \bar{u}_{..}) \right)^2$$

$$= \frac{1}{NM^2} \sum_{i=1}^N \left( \sum_{j=1}^M (u_{ij} - \bar{u}_{..})^2 + \sum_{j=1}^M \sum_{k=1}^M (u_{ij} - \bar{u}_{..}) (u_{ik} - \bar{u}_{..}) \right)$$

$$= \frac{1}{NM^2} (NM\sigma_u^2 + P_c MN(m-1)\sigma_u^2) = \frac{\sigma_u^2}{M} + \frac{m-1}{M} \sigma_u^2 P_c$$

$$= \frac{\sigma_u^2}{M} (1 + (m-1)P_c) \Rightarrow \begin{cases} \sigma_b^2 \geq 0 \Rightarrow \frac{\sigma_u^2}{M} (1 + (m-1)P_c) \geq 0 \Rightarrow P_c \geq -\frac{1}{m-1} \\ \sigma_b^2 \leq \sigma_u^2 \Rightarrow \frac{\sigma_u^2}{M} (1 + (m-1)P_c) \leq \sigma_u^2 \Rightarrow P_c \leq 1 \end{cases}$$

$$\Rightarrow -\frac{1}{m-1} \leq P_c \leq 1$$

تحت شرایطی که حجم نمونه ها با هم برابر باشند

$$\begin{cases} m=1 \rightarrow \sigma_u^2 = \sigma_b^2 \\ P_c=1 \rightarrow \sigma_u^2 = \sigma_b^2 \\ P_c = \frac{-1}{m-1} \rightarrow \sigma_b^2 = 0 \end{cases}$$

$$n = 30$$

$$r = \rho = 0/4$$

$$C_{xx} = C_{yy} = 0/4$$

[1]

$$\frac{\text{Bias}(\bar{Y}_r)}{\sqrt{\frac{1}{J_N} \sum_{j=1}^N \bar{Y}_j^2}}$$

$$= \bar{Y}_N \left( \frac{1}{n} - \frac{1}{N} \right) (C_{yy} - r C_{xx} C_{yy}) = \left( \frac{1}{30} - \frac{1}{N} \right) (0/4)^2 - \frac{0}{4} \quad (0/4)$$

$$\frac{N \rightarrow \text{بزرگ}}{\frac{1}{n} = 0}$$

$$\left( \frac{1}{30} \right) \left( 0/4 - \frac{0/4 (0/4)}{0/4} \right) = \left( \frac{1}{30} \right) (0/4) = 0/300$$

$$n=100$$

$$s^2_{n\mu} = 1400$$



$$\text{var}(\hat{\mu}_n) = \sigma^2$$

$$(1 - \frac{1}{2}) \frac{s^2_{n\mu}}{n} (1 - r^2) = \sigma^2 \quad \text{فرض } r=0 \quad (1 - 0) \frac{1400}{100} (1 - r^2) = \sigma^2$$

$$14 (1 - r^2) = \sigma^2 \rightarrow (1 - r^2) = \frac{1}{14} \quad \frac{\sigma^2}{14} = r^2 \Rightarrow r = \frac{\sqrt{\sigma^2}}{14}$$

$$\Rightarrow r = 0 \wedge v = \hat{\rho}$$

$$N \ll \infty \quad r \in \Sigma$$

$$k > r \quad k = \frac{N}{n}$$

$$(x_{r+jk}, x_{N-r+1})$$

$$(x_{r+jk}, x_{N-r+1-jk}) \Rightarrow (x_{r+jk}, x_{N-jk})$$

□

$$x_r, x_{r+k}, x_{r+2k}, \dots, x_{r+(n-1)k}$$

بزرگترین واحد عدد 97

||

$$y = 31 \Rightarrow y_{97} = (3)(97) = 291$$